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Topic:­ Physics
1)

Question Stimulus :­

The thermal capacity of a copper block of mass 0.2 kg and specific heat capacity
of 400 J/kg/K will be /0.2 िकलो츱Āाम 帳Ā帘Ȁमान और 400 J/kg/K िविश预Ȁ ट ऊⴂ�ा धा숝Āरता के कॉपर 뻥Āॉक की
ऊⴂ�ा धा숝Āरता होगी

2000 J/K

80J/K

1000J/K

4200J/K

Correct Answer :­80J/K 

2)

Question Stimulus :­

Which is farthest planet to a sun? / सयू㸭Ā स ेसबस ेदूर कौन सा 츱Āह ह?ै

Uranus / यरूेनस

Neptune / न晳ेȀꑩĀनू

Pluto / ỌĀटूो

Mercury / पारद

Correct Answer :­Pluto / ỌĀटूो 

3)

Question Stimulus :­

A ball thrown vertically upwards rises to a height of 18.6 m and comes back to its initial position. Its total distance
& displacement would be / एक ऊ檦Āा㸭Āधर ऊपर की ओर फᘮĀकी गई गᘮĀद 18.6 मी की ऊचाईँ पर उठती ह ैऔर अपनी
䐴Āारंिभक Ā슄Ȁथित पर वापस आती ह|ै उसकी कुल दूरी और िव슄Ȁथापन होगा

18.6 m & zero / 18.6 मी और श삾ूĀ



37.2 m & Zero / 37.2 मी और श삾ूĀ

37.2 m & 18.6 m / 37.2 मी और 18.6 मी

Zero & 18.6 m / श삾ूĀ और 18.6 मी

Correct Answer :­37.2 m & Zero / 37.2 मी और श삾ूĀ 

4)

Question Stimulus :­

A slinky toy when stretched generate / एक च捀ु  Āखलौना खीचं ेजान ेपर इसका 䐴Āजनन करता है

Radio Waves / रेिडयो तरंगे

Periodic Waves / आवत쨭Ā तरंगे

Sound Waves / 檦Āिन तरंगे

Pulse / 瘸Ȁदं

Correct Answer :­Pulse / 瘸Ȁदं 

5)

Question Stimulus :­

One cannot hear a bomb explosion on the moon because moon has / च帳Āमा पर कोई बम िव刻Ȁोट नही ंसनु सकता
᱆Āोिंक च帳Āमा पर होता है

Rocks & craters / शलै और 樱Āटर

No atmosphere / कोई वातावरण नहीं

High temperature / उꡝĀ ताप

Low gravity / कम ग搰ुĀĀ

Correct Answer :­No atmosphere / कोई वातावरण नही ं

6)

Question Stimulus :­

A Concave Mirror has a radius of curvature of 20 cm. Its focal length is / अवतल दप㸭Āण की व樱Āता िĀ쩤Āा 20 समेी
ह|ै इसका फोकसीकरण है

80 cm



40 cm

10 cm

5 cm

Correct Answer :­10 cm 

7)

Question Stimulus :­

Speed of light is maximum in / 䐴Āकाश का वगे अिधकतम होता ह ैइसमᘮĀ

Vacuum / िनवा㸭Āत

Gas / गसै

Liquid / तरल

Solid / ठोस

Correct Answer :­Vacuum / िनवा㸭Āत 

8)

Question Stimulus :­

If the refractive index of glass is 1.65,its speed of light in glass will be / यिद काचँ का अपवत㸭Āनाकं 1.65 ह,ै तो काचँ
मᘮĀ 䐴Āकाश का वगे होगा

1.8 x 105 m/s

1.8 x 106 m/s

1.8 x 107 m/s

1.8 x 108m/s

Correct Answer :­1.8 x 108m/s 

9)

Question Stimulus :­

Refractive index is / अपवत㸭Āनाकं होता है

Directly proportional to Wavelength of light / 䐴Āकाश की तरंग दूरी के अन樱ुĀमानपुात

Inversely proportional to Wavelength of light / 䐴Āकाश की तरंग दूरी के 帘Ȁ욂ुĀमानपुाती



Directly proportional to square of the Wavelength of light / 䐴Āकाश की तरंग दूरी के वग㸭Ā के अन樱ुĀमानपुात

Inversely proportional to square of the Wavelength of light / 䐴Āकाश की तरंग दूरी के वग㸭Ā के 帘Ȁ욂ुĀमानपुाती

Correct Answer :­Inversely proportional to square of the Wavelength of light / 䐴Āकाश की तरंग दूरी के वग㸭Ā
के 帘Ȁ욂ुĀमानपुाती 

10)

Question Stimulus :­

Four roads AB, BC, CD and AD form a rectangle as shown.  AB = 5.0 km and BC
= 12 km.  A Car starts from A, goes to B, then to C and then to D.  The
displacement of the car from A to C is/ चार सड़कᘮĀ, AB, BC, CD और AD एक आयत की बनाती ह阮Ā
जसै ेिक िदखाया गया ह|ै AB = 5.0 km और BC = 12 km| एक कार A स ेश搰ुĀ होती ह,ै B तक याĀा करती ह,ै िफर 
C तक और िफर D तक| इसका A स ेC तक िव슄Ȁथापन है

17 km

13 km

12 km

8.5 km

Correct Answer :­13 km 

11)

Question Stimulus :­

When a graph of one quantity versus another results in a curve, the quantities are / जब एक रािश का
दूसरी रािश के अनपुात के आरेख स ेव樱Ā प숝Āरणािमत होता ह,ै तो व ेरािशयां

directly proportional to each other. / एक दूसरे के अन樱ुĀमानपुात होती ह阮Ā

inversely proportional to each other. / एक दूसरे के 帘Ȁ욂ुĀमानपुाती होती ह阮Ā

independent of each other. / एक दूसरे स ेȀतंĀ होती ह阮Ā

none of the above. / उपरो칀Ā कोई नहीं

Correct Answer :­none of the above. / उपरो칀Ā कोई नही ं



12)

Question Stimulus :­

A stone is thrown up with a velocity of 20 ms­1 from the top of a building of height 20 m from the
ground level. The time taken by the stone to fall to the ground is (Take g = 10 ms­2). / एक पꪅĀर को 20 ms­
1 के वगे स ेभिूम तल स े20m ऊँची इमारत की िशखर स ेऊपर की ओर फᘮĀका जाता ह|ै पꪅĀर को भिूम पर िगरन ेमᘮĀ
इतना समय लगगेा (g = 10 ms­2 ल ेलीिजय)े

(√2 +1) s

2(√2 +1) s

(√2 – 1) s

2(√2 – 1) s

Correct Answer :­2(√2 +1) s 

13)

Question Stimulus :­

Electric bulbs are rated 50W and 100 V and glowing at full power when used in parallel with a battery of 120 V
and internal resistance 10 Ω. The maximum number of bulbs that can be connected in the circuit when glowing
full power is: / 50W एव ं100V के िवद्युतीय ब鐍Ȁ परूी ꉈĀमता स ेचमकत ेह阮Ā, जब 120 V की बटै縭Āी के समानातंर एवं
आतं숝Āरक 䐴Āितरोध 10 Ω के साथ 䐴Āय칀ुĀ हो।ं परूी ꉈĀमता स ेचमकन ेके िलए अिधकतम ब鐍Ȁो ंकी स졋ंĀा िज䣀ĀᘮĀ प숝Āरपथ मᘮĀ
जोड़ा जा सकता ह ै:

8

6

4

2

Correct Answer :­4 

14)

Question Stimulus :­

P is a hotel on top of a mountain peak of 6000 m height from the sea level. Q is a house in the Japanese
coast. R is at the bottom of a mine, 2000 m below the surface of Earth. Gravitational pull / P सम帳ुĀ तल से
6000 m ऊँची पहाड़ की चोटी पर एक होटल ह|ै Q जापानी तट पर एक घर ह|ै R खान के तल पर प쒒ृĀी की सतह के
2000 m नीच ेह|ै ग㨰ुĀĀीय अिभकष㸭Āण

at R will be more than that at Q, which will be more than that at P. / R पर Q स ेअिधक होगा, िजसपर



खदु P स ेअिधक होगा|

will be the same at P, Q and R. / P, Q और R पर समान होगा

at P and R will be less than the gravity at Q. / Q की अपꉈेĀा P एव ंR पर ग㨰ुĀĀाकष㸭Āण कम होगा|

at P and R will be more than the gravity at Q. / Q की अपꉈेĀा P एव ंR पर ग㨰ुĀĀाकष㸭Āण अिधक होगा|

Correct Answer :­at P and R will be less than the gravity at Q. / Q की अपꉈेĀा P एव ंR पर ग㨰ुĀĀाकष㸭Āण
कम होगा| 

15)

Question Stimulus :­

The approximate height of a geostationary satellite above the surface of the Earth is / प쒒ृĀी की सतह के ऊपर
भूĀ슄Ȁथर उप츱Āह की लगभग ऊचाईँ होगी

980 km

6400 km

36000 km

11.2 km

Correct Answer :­36000 km 

16)

Question Stimulus :­

The SI unit of gravitational field intensity is / ग㨰ुĀĀाकष㸭Āण ꉈĀेĀ ती㸶Āता की SI यिूनट है

m s­1

N kg­1

N m­1

N m

Correct Answer :­N kg­1 

17)

Question Stimulus :­

The wavelength of a plane progressive wave is 12 m. The phase difference between the oscillations at two points 6
m apart along the line of propagation is / एक समतल 䐴Āगामी तरंग की तरंग दूरी 12 मी ह|ै सचंरण रेखा पर 6 मी दूर



दो िबदंओु ंपर दोलनो ंके बीच कलातंर है

0

π

π/4

π/2

Correct Answer :­π 

18)

Question Stimulus :­

Two springs with spring constant 6000 Nm­1 and 4000 Nm­1 are connected first
in series and then in parallel and made to oscillate with the same load
attached.  The periods of oscillations, Ts : Tp will be in the ratio 
(approximately)

 

/ दो Ā∺Ȁगं िजनका कमानी Ā슄Ȁथराकं 6000 Nm­1 और 4000 Nm­1 ह,ै को पहल ेĀणेी मᘮĀ जोड़ा जाता ह ैऔर िफर
समातंर जोड़ा जाता ह ैएव ंसमान भार स ेजोड़कर दोलन कराया जाता ह ै| दोलन के आवत砯Ā,Ts : Tp का अनपुात होगा
(सि㚺Āकटत:)

1 : 4

4 : 1

1 : 2

2 : 1

Correct Answer :­2 : 1 

19)

Question Stimulus :­



Frequency and Wavelength of a wave / तरंग की आविृ窅Ā और तरंगदघैय㸭Ā

are both dependent on the phase difference. / दोनो ंकलातंर पर िनभ㸭Āर होत ेह阮Ā

are always directly proportional. / हमशेा अन樱ुĀमानपुात होत ेह阮Ā

are always inversely proportional / हमशेा 帘Ȁ욂ुĀमानपुाती होत ेह阮Ā

do not have any relationship in their variations. / उनके विैभ㚺Āयो ंमᘮĀ कोई सबंधं नही ंहोता

Correct Answer :­are always inversely proportional / हमशेा 帘Ȁ욂ुĀमानपुाती होत ेह阮Ā 

20)

Question Stimulus :­

A focus lamp needs to be hung just above a statue in a temple. But the ceiling
right above the statue is in the form of a dome, too high to hang the lamp from
there.  So, a wire is tied to two hooks in the ceiling edges and the lamp is
attached to the wire in such a way that it hangs just above the statue.  (See the
diagram).  The wire makes angles 60ᵒ with the ceiling at each end, as shown. 
The lamp weighs 24 kg.  Minimum tension the supporting wire should be
capable of bearing is (Take g = 10 ms­2) /

मिंदर मᘮĀ मिूत㸭Ā के ऊपर फोकस ल飵ैĀ को लटकान ेहते ुएक मोटी तार को दीवार पर Āक स ेबाधंा जाता ह,ै लिेकन मिूत㸭Ā के
ठीक ऊपर छत गबुदं के 搰Āप मᘮĀ ह ैजहा ँस ेल飵ैĀ लटकान ेके िलहाज़ स ेवह बĀत ही ऊँचाई पर ह|ै इसिलए एक तार को
छ्त के िकनारो ंमᘮĀ दो Āको ंस ेबाधंा गया ह ैऔर ल飵ैĀ तार स ेइस 䐴Āकार जोड़ा गया ह ैिक वह मिूत㸭Ā के ठीक ऊपर
लटकता ह ै(नीच ेआरेख देĀखय)े | तार 䐴Ā᲋Āके िसरे की छत स े60ᵒ के कोण बनाती ह,ैजसै ेिक िदखाया गया ह|ै ल飵ैĀ का
भार 24िकलो ह|ै 삾Āनूतम तनाव िजस ेबदा㸭Ā逞Ȁ करन ेके िलय ेसमथ㸭Āक तार सꉈĀम होनी चािहए (g=10 ms­2 लᘮĀ)

 

100 N

120 N

140 N

180 N

Correct Answer :­140 N 

21)



Question Stimulus :­

A household uses every day in average, 3 fans each of 60W for 10 hours, 2
fluorescent bulbs each of 40W for 5 hours, 4 LCD lamps each of 25W for 7
hours, an AC unit of 1200W for 8 hours, a TV of 250 W for 10 hours, a heater of
2 kW for 1 hour and a water pump of 0.75 kW for 4 hours. The power
consumption of the household in a month (of 30 days) will be / एक घर मᘮĀ हर िदन, 10
घटं ेके िलए 60W के 3 पखं,े 5 घटं ेके िलए 40W के 2 ĀोरोसᘮĀट ब鐍Ȁ, 7 घटं ेके िलए 25W के 4 LCD ल阮Āप, 8 घटं ेके
िलए 1200W का एक एसी यिूनट, 10 घटं ेके िलए 250W का एक टीवी, 1 घटंा के िलए 2 kW का एक हीटर एव ं4 घटंे
के िलए 0.75 kW का एक पानी का पपं का उपयोग होता ह|ै (30 िदन) के एक महीन ेमᘮĀ घरेल ूिबजली की खपत होगी:

500 units / 500 इकाई

600 units / 600 इकाई

800 units / 800 इकाई

1000 units / 1000 इकाई

Correct Answer :­600 units / 600 इकाई 

22)

Question Stimulus :­

A solenoid of length 100 cm and radius 3.0 cm has five layers of 700 turns
each.  The magnetic flux density at its centre on its axis when a steady current
of 1.5 A passes through the coil is (Take µₒ = 4π X 10­7 NA­2) / एक 100 समेी लĀाई
और 3.0 समेी िĀ쩤Āा की प숝Āरनािलका मᘮĀ 䐴Ā᲋Āके 700 फेरो ंकी पाचँ परत ह阮Ā| इसके अꉈĀ के कᘮĀ帳Ā पर चुंबकीय अिभवाह
ससघनता जब 1.5 A की 슄Ȁथायी धारा कुंडली स े䐴Āवािहत होती ह(ैµₒ लीिजए = 4π X 10­7 NA­2)

8.8 X 10­3 T

7.7 X 10­3 T

6.6 X 10­3 T

4.4 X 10­3 T

Correct Answer :­6.6 X 10­3 T 

23)

Question Stimulus :­

The resistance of a metallic wire varies inversely as  / धाĀĀक तार का 䐴Āितरोध
इसके帘Ȁ욂ुĀमानपुाती होता है

Temperature / ताप



Length / लĀाई

Area of cross section / अन䐴ुĀ슄Ȁथ काट का ꉈĀेĀफल

Resistivity of its material / इसकी साम츱Āी की 䐴Āितरोधकता

Correct Answer :­Area of cross section / अन䐴ुĀ슄Ȁथ काट का ꉈĀेĀफल 

24)

Question Stimulus :­

Rahim can read a book clearly only if he can keep it 40 cm away from his eye. The power of the
corrective lens recommended for him is / रहीम िकताब को 瘸Ȁ訪Ȁ तभी पढ़ सकता ह ैजब वह उस ेअपनी आखँ से
40 समेी की दूरी पर रख|े उस ेसझुाव िकय ेगय ेसधुारक लᘮĀस की ꉈĀमता है

+ 0.4 D

– 0.4D

–1.5D

+1.5D

Correct Answer :­+1.5D 

25)

Question Stimulus :­

An object of mass 120 kg moving at 8 ms­1 is subjected to a force of 80 N.  Its
speed after a quarter minute will be / एक 120िकलो 帳Ā帘Ȁमान की 8 ms­1 पर चल रही व捀  ुपर 80
N का बल लगाया जाता ह|ै उसका एक चौथाई िमनट के बाद वगे होगा

18 ms­1

15 ms­1

12 ms­1

21 ms­1

Correct Answer :­18 ms­1 

26)

Question Stimulus :­

A particle of mass m strikes a wall normally with a velocity v and then its velocity reversed. The change in
momentum is : / m 帳Ā帘Ȁमान का एक कण सामा삾Āत: v वगे स ेएक दीवार स ेटकराता ह ैिफर इसी वगे स े帘Ȁ욂ुĀिमत



होता ह।ै सवंगे मᘮĀ Āआ प숝Āरवत㸭Āन:

Mv

2mv

Zero

­2mv

Correct Answer :­­2mv 

27)

Question Stimulus :­

Two parcels A and B of the same size and appearance, but weighing 36 kg and 81 kg respectively, have
their inertias in the ratio / दो पास㸭Āल A और B िजनका 搰Āप और आकार समान ह,ै लिेकन 樱Āमश: उनका भार
36िकलो और 81िकलो ह,ै उनके जड़Ā का अनपुात है

1 : 1

9 : 4

4 : 9

2 : 3

Correct Answer :­4 : 9 

28)

Question Stimulus :­

A train running at 72 km hr­1 enters a 400 meter long tunnel and leaves it after
16 seconds.  If it had been accelerating uniformly throughout, its speed while
the engine leaves the tunnel is / एक 72 km hr­1 पर दौड़ रही रेलगाड़ी 400 मी लĀी सरुंग मᘮĀ 䐴Āवशे
करती ह ैऔर 16 सके桿Ā के बाद उसस ेिनकल जाती ह|ै यिद वह हमशेा एकसमान Āरण कर रही होती, इजंन के सरुंग
स ेिनकलन ेपर उसका वगे होगा

25 ms­1

30 ms­1

35 ms­1

40 ms­1

Correct Answer :­30 ms­1 



29)

Question Stimulus :­

Magnifying power of a telescope in normal adjustment, with 1.2 m and 8 cm respectively as the focal
lengths of its objective and eyepiece, is / सामा삾Ā समायोजन मᘮĀ दूरबीन की आवध㸭Āन ꉈĀमता, िजसके व捀 िुन预Ȁ ठ
और निेĀका के फोकसीकरण 樱Āमश: 1.2 m और 8 cm ह阮Ā, होगी

960

31

15

128

Correct Answer :­15 

30)

Question Stimulus :­

Magnifying power of a simple microscope of focal length 10.0 cm for a person whose least distance of
distinct vision is 24 cm is / 10.0 समेी की फोकसीकरण वाल ेसरल स퉈ूĀदश쨭Ā की आवध㸭Āन ꉈĀमता, एक मन瀮ुȀ के िलये
िजसकी स瘸ुȀ预Ȁ ट दश㸭Āन की 삾Āनूतम दूरी 24 समेी ह,ै होगी

3.4

2.4

2.5

3.5

Correct Answer :­3.4 

31)

Question Stimulus :­

Arrange the following planets in increasing order of size: Earth, Mars, Jupiter, Neptune / िन쫳Ā 츱Āहो ंको
उनके साइज़ के बढ़त े樱Āम मᘮĀ 帘ȀवĀ슄Ȁथत करᘮĀ: प쒒ृĀी, मगंल, बहृ瘸Ȁित, न晳ेȀꑩĀनू

Earth –Jupiter – Mars – Neptune / प쒒ृĀी–बहृ瘸Ȁित–मगंल–न晳ेȀꑩĀनू

Earth – Neptune – Mars – Jupiter / प쒒ृĀी–न晳ेȀꑩĀनू–मगंल– बहृ瘸Ȁित

Mars – Jupiter – Earth – Neptune / मगंल–बहृ瘸Ȁित–प쒒ृĀी– न晳ेȀꑩĀनू

Mars – Earth – Neptune – Jupiter / मगंल–प쒒ृĀी–न晳ेȀꑩĀनू बहृ瘸Ȁित



Correct Answer :­Mars – Earth – Neptune – Jupiter / मगंल–प쒒ृĀी–न晳ेȀꑩĀनू बहृ瘸Ȁित 

32)

Question Stimulus :­

Arrange the following planets in the decreasing order of natural satellites they
possess: Uranus, Mars, Venus, Saturn  /िन쫳Ā 츱Āहो ंको उनके 䐴Āाकृितक उप츱Āहो ंके घटत े樱Āम मᘮĀ
帘ȀवĀ슄Ȁथत करᘮĀ:, यरुेनस, मगंल, वीनस, शिन

Uranus, Saturn, Mars, Venus / यरुेनस, शिन, मगंल, वीनस

Venus, Mars, Uranus, Saturn / वीनस, मगंल, यरुेनस, शिन

Mars, Saturn, Venus, Uranus / मगंल, शिन, वीनस, यरुेनस

Saturn, Uranus, Mars, Venus / शिन, यरुेनस, मगंल, वीनस

Correct Answer :­Saturn, Uranus, Mars, Venus / शिन, यरुेनस, मगंल, वीनस 

33)

Question Stimulus :­

The physical quantity, which is equal to rate of change of momentum, is ____. / भौितक प숝Āरमाण, जो सवंगे के
प숝Āरवत㸭Āन के दर के बराबर ह,ै ह ै____|

Displacement / िव슄Ȁथापन

Acceleration / Āरण

Force / बल

Impulse / आवगे

Correct Answer :­Force / बल 

34)

Question Stimulus :­

A concave lens is often used to correct _______ / एक अवतल लेĀ अिधकतर _______को सधुारन ेमᘮĀ 䐴Āयोग िकया
जाता है

Farsightedness / दूरदिश㸭Āता

Astigmatisms / एĀȀĀिैटȀम

Nearsightedness / िनकट दिश㸭Āता



Multi image / बĀ䐴Āितिबबं

Correct Answer :­Nearsightedness / िनकट दिश㸭Āता 

35)

Question Stimulus :­

When a wave travels through a medium ____________ / जब एक तरंग एक मा㲥Āम स ेयाĀा करती ह_ै__________

energy is transferred at a constant speed / ऊजा㸭Ā 슄Ȁथायी वगे स े슄Ȁथानातं숝Āरत होती है

particles are transferred from one place to another / कण एक 슄Ȁथान स ेदूसरे 슄Ȁथान पर 슄Ȁथानातं숝Āरत होत ेह阮Ā

energy is transferred in a periodic manner / ऊजा㸭Ā आवत쨭Ā तरीके मᘮĀ 슄Ȁथानातं숝Āरत होती है

particles are transferred at a constant speed / कण 슄Ȁथायी वगे स े슄Ȁथानातं숝Āरत होत ेह阮Ā

Correct Answer :­energy is transferred at a constant speed / ऊजा㸭Ā 슄Ȁथायी वगे स े슄Ȁथानातं숝Āरत होती ह ै

36)

Question Stimulus :­

When a ball rolls on the ground the work done by the frictional force is. / जब एक गᘮĀद ज़मीन पर लोटती ह,ै तो
घष쨭Ā बल 꺢Āारा िकया गया काय㸭Ā होता है

Zero / श삾ूĀ

Positive / धना낊Āक

Negative / ऋणा낊Āक

Undefined / अिनधा㸭Ā숝Āरत

Correct Answer :­Negative / ऋणा낊Āक 

37)

Question Stimulus :­

Angela who weighs 60 kg drops into the valley below from the cliff top in a
bungee jumping adventure. If it takes 5.0 s for her to drop down to the full
length of her bungee cord before it pulls her back up, her kinetic energy at the
moment is (Take g = 10 ms­2)  /एंिजला िजसका वजन 60 िकलो ह,ै एक बजंी जĀ飵Āगं एडवᘮĀचर मᘮĀ, भगृु
की िशखर स ेनीच ेघाटी मᘮĀ िगरती ह|ै इसस ेपहल ेिक वह उस ेवापस खीचं ल,े यिद उस ेबजंी की डोरी की परूी लĀाई
पर िगरन ेमᘮĀ 5.0 सके桿Ā लगत ेह阮Ā, उस ꉈĀण गितजऊजा㸭Ā ह ै(g = 10 ms‐2 ल ेलीिजय)े

30 kJ



45 kJ

60 kJ

75 kJ

Correct Answer :­75 kJ 

38)

Question Stimulus :­

On the assumption that 150 ml of a special energy drink gives a mallakhamb
girl artist of mass 48 kg, the energy of 18 kJ and the efficiency of converting
the food energy into physical work by her body is 28%, the height she can
climb up the mallakhamb from the energy gained from 150 ml of the drink
alone is (Take g = 10 ms­2) / अगर मान लᘮĀ िक एक िविश訪Ȁ ऊजा㸭Ā पये का 150 ml, 48 िकलो 帳Ā帘Ȁमान की
एक मलखĀ लड़की कलाकार को 18 kJ ऊजा㸭Ā दतेा ह ैऔर उसके शरीर 꺢Āारा भोजन ऊजा㸭Ā को भौितक काय㸭Ā मᘮĀ
प숝Āरवित㸭Āत करन ेकी दꉈĀता 28% ह,ै तो केवल पये के 150 ml स े䐴ĀाⓃĀ ऊजा㸭Ā स ेवह इतनी ऊँचाई तक चढ़ सकती ह ै(g
लीिजए = 10 ms­2)

10.5 m

9 m

8.5 m

6 m

Correct Answer :­10.5 m 

39)

Question Stimulus :­

The device Odometer measures / यंĀ ओडोमीटर इस ेमापता है

Speed / चाल

Distance / दूरी

Mass / 帳Ā帘Ȁमान

Density / सघनता

Correct Answer :­Distance / दूरी 

40)

Question Stimulus :­



A person can see objects lying between 50 cm and 100 cm. What power of lens will he use for reading a book?
(Distance of LDV is 25 cm): / एक 帘ȀĀ칀Ā 50 स०ेमी० एव ं100 स०ेमी० के बीच रखी व捀 ओु ंको दखे सकता ह।ै एक
प捀ु क पढ़न ेके िलए वह लᘮĀस की िकतनी शĀ칀Ā का 䐴Āयोग करेगा? (LDV की दूरी 25 स०ेमी० ह)ै

+2 D

­2 D

+0.2 D

­0.2 D

Correct Answer :­+2 D 

41)

Question Stimulus :­

The half life period of a radioactive element X is same as mean life of another radioactive element Y. Initially they
have the same no. of atoms, then : / एक रेिडयोस樱Āीय तĀ X का आधा जीवनकाल एक अ삾Ā रेिडयोस樱Āीय तĀ Y के
औसत आय ुके समान ह।ै 䐴Āार哷Ā मᘮĀ उनकी परमाण ुस졋ंĀा समान ह,ै तब :

Y decays faster than X / Y, X की अपꉈेĀा ज�Ȁी ꉈĀीण हो जाता है

initially X and Y decay equally / 䐴Āार哷Ā मᘮĀ X एव ंY समान ꉈĀीण होत ेह阮Ā

X and Y decay at same rate always / X एव ंY सदवै समान दर स ेꉈĀीण होत ेह阮Ā

X will decay faster than Y / X, Y की अपꉈेĀा ज�Ȁी ꉈĀीण हो जाता है

Correct Answer :­Y decays faster than X / Y, X की अपꉈेĀा ज�Ȁी ꉈĀीण हो जाता ह ै

42)

Question Stimulus :­

Energy changes involved in the generation of electricity in a hydroelectric power station is in the order:
/ एक पनिबजली Ȁशेन मᘮĀ िवद्युत ्उ�ादन मᘮĀ अतंिन㸭Āिहत ऊजा㸭Ā प숝Āरवत㸭Āन का 樱Āम ह ै:

Electrical to Potential to Kinetic / िवद्युत ्स ेĀ슄Ȁथितज स ेगितज

Kinetic to Potential to Electrical / गितज स ेĀ슄Ȁथितज स ेिवद्युत्

Potential to Kinetic to Electrical / Ā슄Ȁथितज स ेगितज स ेिवद्युत्

Electrical to Kinetic to Potential / िवद्युत ्स ेगितज स ेĀ슄Ȁथितज

Correct Answer :­Potential to Kinetic to Electrical / Ā슄Ȁथितज स ेगितज स ेिवद्युत ्

43)



Question Stimulus :­

The best electrical conductor among the following metals is / िन쫳ĀिलĀखत धातओु ंमᘮĀ सव㸭ĀĀ㸫ेȀ िवद्युत सचुालक
ह ै:

Silver / चादँी

Copper / ताबँा

Gold / सोना

Aluminium / ऐलिुमिनयम

Correct Answer :­Silver / चादँी 

44)

Question Stimulus :­

A room is lit with a 100W filament bulb. Light suddenly becoming dimmer may
mean very likely / एक कमरा 100 W ततं ुवाल ेब鐍Ȁ स े䐴Āकाशमान ह|ै अचानक 䐴Āकाश म岚Āम होन ेलगता ह,ै
बĀत स哷Āावना ह ैिक:

the supply voltage has dropped, but not the current and the
resistance of the bulb. / वो जे आपिूत㸭Ā 搰Āक जाती ह,ै पर늪Ā ुिवद्युत ्धारा एव ंब鐍Ȁ का 䐴Āितरोध
नहीं

both the supply voltage and the resistance are reduced, but not
the current. / वो जे आपिूत㸭Ā एव ं䐴Āितरोध दोनो ंकम हो जात ेह阮Ā, पर늪Ā ुिवद्युत ्धारा नही|ं

the supply voltage has dropped and current reduced, but not the
resistance. / वो जे आपिूत㸭Ā 搰Āक जाती ह ैएव ंिवद्युत ्धारा कम हो जाती ह,ै पर늪Ā ु䐴Āितरोध नहीं

all the three – the  supply  voltage, current and the resistance have
dropped. / वो जे आपिूत㸭Ā, िवद्युत ्धारा एव ं䐴Āितरोध तीनो ंही 搰Āक जात ेह阮Ā|

Correct Answer :­the supply voltage has dropped and current reduced, but not
the resistance. / वो जे आपिूत㸭Ā 搰Āक जाती ह ैएव ंिवद्युत ्धारा कम हो जाती ह,ै पर늪Ā ु䐴Āितरोध नही ं

45)

Question Stimulus :­

An ecosystem which cannot be easily damaged but can recover easily if damaging effect stops will be
having / एक प숝ĀरतंĀ जो आसानी स ेꉈĀित츱Ā捀  नही ंहो सकता लिेकन यिद हािनकारक 䐴Āभाव बदं हो जाय ेतो आसानी
स ेबरामद िकया जा सकता, मᘮĀ होगी

high stability and high resilience / उꡝĀ Ā슄Ȁथरता और उꡝĀ 䐴Ā᲋Āा슄Ȁथता

high stability and low resilience / उꡝĀ Ā슄Ȁथरता और कम 䐴Ā᲋Āा슄Ȁथता



low stability and low resilience / कम Ā슄Ȁथरता और कम 䐴Ā᲋Āा슄Ȁथता

low stability and high resilience / कम Ā슄Ȁथरता और उꡝĀ 䐴Ā᲋Āा슄Ȁथता

Correct Answer :­high stability and high resilience / उꡝĀ Ā슄Ȁथरता और उꡝĀ 䐴Ā᲋Āा슄Ȁथता 

46)

Question Stimulus :­

Energy crisis can be minimized by / उजा㸭Ā सकंट को 삾Āनूतमीकृत िकया जा सकता है

increasing the number of power plants to produce more power /
अिधक िवद्युत उ�ादन के िलए शĀ灣Ȁ त सयंंĀो ंकी स졋ंĀा मᘮĀ वृĀ岚Ā करके

switching over to the use of biodegradable fuels from fossil­based
fuels / जीवा␡Ȁ आधा숝Āरत ईधंन का 䐴Āयोग छोड़कर जवैिन쉺Ȁ ननी ईधंन का 䐴Āयोग करके

harnessing wind, tide and solar energy sources / वाय,ु Ꙑကार एव ंसौर ऊजा㸭Ā 琻Āोतो ंको सᩡĀा मᘮĀ लाकर

all the above processes / ऊपर दी गयी सभी 䐴Āिकयाओ ं꺢Āारा

Correct Answer :­all the above processes / ऊपर दी गयी सभी 䐴Āिकयाओ ं꺢Āारा 

47)

Question Stimulus :­

Which of the following is true of Internal Combustion Engines? / िन쫳ĀिलĀखत मᘮĀ से
कौन आत숝ंĀरक दहन इजंन के िलए स᲋Ā ह?ै

4­stroke engines are more efficient and generate less power than
2­stroke engines. / 4­Ȁ縭Āोक इजंन अिधक कुशल ह阮Ā एव ं2­Ȁ縭Āोक इजंन की तलुना मᘮĀ कम िबजली
पदैा करत ेह阮Ā|

4­stroke engines are less efficient and generate less power than 2­
stroke engines. / 4­Ȁ縭Āोक इजंन कम कुशल ह阮Ā एव ं2­Ȁ縭Āोक इजंन की तलुना मᘮĀ कम िबजली पदैा
करत ेह阮Ā|

4­stroke engines are more efficient but generate more power than
2­stroke engines. / 4­Ȁ縭Āोक इजंन अिधक कुशल ह阮Ā पर늪Ā ु2­Ȁ縭Āोक इजंन की तलुना मᘮĀ अिधक
िबजली पदैा करत ेह阮Ā|

4­stroke engines are less efficient but generate more power than
2­stroke engines. / 4­Ȁ縭Āोक इजंन कम कुशल ह阮Ā पर늪Ā ु2­Ȁ縭Āोक इजंन की तलुना मᘮĀ अिधक िबजली
पदैा करत ेह阮Ā|

Correct Answer :­4­stroke engines are more efficient and generate less power
than 2­stroke engines. / 4­Ȁ縭Āोक इजंन अिधक कुशल ह阮Ā एव ं2­Ȁ縭Āोक इजंन की तलुना मᘮĀ कम िबजली पदैा



करत ेह阮Ā| 

48)

Question Stimulus :­

Which of the following are some benefits in day­to­day life from space
research? / िदन­䐴Āितिदन के जीवन मᘮĀ होन ेवाल ेकुछ लाभ जो अतं숝ĀरꉈĀ अनसुधंान स े䐴ĀाⓃĀ Āए ह阮Ā, िन쫳ĀिलĀखत मᘮĀ
कौन ह阮Ā?

Artificial limbs / कृिĀम अगं

Space blankets / अतं숝ĀरꉈĀ कंबल

Scratch­resistant lenses / खरोचं 䐴Āितरोधी लᘮĀस

All of the above / उपय㸭ुĀ칀Ā सभी

Correct Answer :­All of the above / उपय㸭ुĀ칀Ā सभी 

49)

Question Stimulus :­

The Space Observatory which is discovering earth­like planets in recent years
in other star systems is named after / वह अतं숝ĀरꉈĀ वधेशाला जो हाल के वष砯Ā मᘮĀ अ삾Ā तारा िनकायों
मᘮĀ प쒒ृĀी जसै े츱Āहो ंकी खोज कर रही ह,ै इनके नाम पर ह ै:

Galileo / गलैीिलयो

Newton / 삾Āटून

Kepler / केỌĀर

Hubble / हबल

Correct Answer :­Kepler / केỌĀर 

50)

Question Stimulus :­

A process which minimizes heat transfer by radiation between two surfaces is / वह 䐴Āि樱Āया िजसके अतंग㸭Āत
दो प㸫ृȀो ंके बीच िविकरण के 꺢Āारा ऊⴂ�ा 슄Ȁथानातंरण 삾Āनूतमीकृत होता ह ै:

giving dull and rough finish to the surfaces / प㸫ृȀो ंके मदं एव ंकठोर िफिनश दतेी ह|ै

evacuating the intermediate space / म㲥Āवत쨭Ā 슄Ȁथान को िन倪Ȁिमत करत ेह阮Ā|

filling up the intermediate space with thermocol / थम∯Āकोल स ेम㲥Āवत쨭Ā 슄Ȁथान को भरत ेह阮Ā|



giving bright and silvery finish to the surfaces / प㸫ृȀो ंको उᩡĀवल एव ंचादंी जसैी चमक दतेी ह|ै

Correct Answer :­giving bright and silvery finish to the surfaces / प㸫ृȀो ंको उᩡĀवल एव ंचादंी जसैी
चमक दतेी ह|ै 

Topic:­ Chemistry
1)

Question Stimulus :­

An example of a molecule with a triple bond is / ितहरा बॉ誨Ā वाल ेअण ुका एक उदाहरण है

NH3

BF3

N2

PH3

Correct Answer :­N2 

2)

Question Stimulus :­

The main constituent of bio­gas is / बायो­गसै का म졋ुĀ सघंटक ह:ै

Ethane / एथने

Methane / मथेने

Hydrogen / हाइड縭Āोजन

LPG / रसोई गसै

Correct Answer :­Methane / मथेने 

3)

Question Stimulus :­

Select the cleaner fuel used in Automobiles /  मोटरकारो ंमᘮĀ 䐴Āय칀ुĀ होन ेवाल े癇Āीनर ईधंन
का चयन करᘮĀ :

CNG / सीएनजी

LPG / घरेल ूगसै



Petrol / पटे縭Āोल

Diesel / डीजल

Correct Answer :­CNG / सीएनजी 

4)

Question Stimulus :­

Which of the following represents 36 g of water ­ / िन쫳ĀिलĀखत मᘮĀ स ेकौन जल का 36g िन㨰Āिपत करता ह?ै

2 moles of water / जल के दो अणु

20 moles of water / जल के 20 अणु

6.023  x  1023 molecules of water / जल के 6.023  x  1023 अणु

1.2044  x  10 25 molecules of water / जल के 1.2044  x  10 25 अणु

Correct Answer :­2 moles of water / जल के दो अण ु

5)

Question Stimulus :­

The formula of a metal sulphate is M2SO4. The formula of its iodide would be­ / एक धात ुस對Ȁट का सूĀ M2SO4
ह|ै उसके आयोडाइड का सूĀ होगा­

MI2

M2I

M2I4

MI

Correct Answer :­MI 

6)

Question Stimulus :­

Aluminium is obtained from aluminium oxide by this process / ऐलिुमिनयम ऑ桉Āाइड स ेऐलिुमिनयम इस 䐴Āि樱Āया
꺢Āारा 䐴ĀाⓃĀ िकया जाता है

electrolytic reduction /  िवद्युत ्삾Āनूीकरण



reduction with carbon / काब㸭Āन के साथ 삾Āनूीकरण

thermite  process / थमा㸭Āइट 䐴Ā樱Āम

heating / तापन

Correct Answer :­electrolytic reduction /  िवद्युत ्삾Āनूीकरण 

7)

Question Stimulus :­

A salt in its molten state conducts electricity but on solidification does not do so. It is due to / एक लवण अपनी
िपघली अव슄Ȁथा मᘮĀ िवद्युत ्सचंािलत करता ह ैपर늪Ā ुठोस 搰Āप मᘮĀ ऐसा नही ंकरता| इसका कारण ह ै:

Free movement of ions in molten state but not in solid state / िपघली अव슄Ȁथा मᘮĀ आयनो ंका म칀ुĀ सचंालन
पर늪Ā ुठोस अव슄Ȁथा मᘮĀ नहीं

Free movement of ions both in molten and solid state / िपघली एव ंठोस दोनो ंअव슄Ȁथाओ ंमᘮĀ आयनो ंका म칀ुĀ
सचंालन

Free movement of ions in solid state / ठोस अव슄Ȁथा मᘮĀ आयनो ंका म칀ुĀ सचंालन

No free movement of ions in molten state  / िपघली अव슄Ȁथा मᘮĀ आयनो ंका म칀ुĀ सचंालन नही ंहोता

Correct Answer :­Free movement of ions in molten state but not in solid state / िपघली अव슄Ȁथा मᘮĀ आयनों
का म칀ुĀ सचंालन पर늪Ā ुठोस अव슄Ȁथा मᘮĀ नही ं

8)

Question Stimulus :­

Balance the following chemical equation / िन쫳ĀिलĀखत रासायिनक अिभि樱Āया को सतंिुलत करᘮĀ
:

2 KMnO4 +   HCl    2KCl +  2 MnCl2 +   H2O +  Cl2

The number of moles of HCl , H2O and Cl2 respectively are / HCl , H2O एव ंCl2 के
츱Āाम अणओु ंकी स졋ंĀा ह ै樱Āमश: ­

16,8,2

8,4,1

16,8,5

8,4,5

Correct Answer :­16,8,5 



9)

Question Stimulus :­

Trace amount of poison in contents of bladder or stomach can be separated by / आशय या पटे के अतंव㸭Ā捀 ओु ंमᘮĀ
जहर की अवशषे माĀा इसके 꺢Āारा पथृक की जा सकती है

Sublimation process / ऊ檦Ā㸭Āपातन 䐴Āि樱Āया

Fraction crystallization / अशं ि樱ĀȀलीकरण

Chromatography / 樱Āोमटैो츱Āफैी

Solvent extraction / िवलायक िन爩Ȁष㸭Āण

Correct Answer :­Chromatography / 樱Āोमटैो츱Āफैी 

10)

Question Stimulus :­

The percentage abundance of  Cl­35 in nature is 75% and Cl­37 is 25%. The
average atomic mass of the element is________ / 䐴Āकृित मᘮĀ Cl­35 की 䐴Āितशतता
बĀतायत स े75% ह ैऔर Cl­37 की 25% ह।ै इस तĀ का औसत परमाण ुभार ह_ै_______।

35.5

36

37

35

Correct Answer :­35.5 

11)

Question Stimulus :­

A solution of CuSO4 is electrolysed for 5 minutes with a current of 1.5 ampere.
The amount of copper deposited at the cathode is /  CuSO4 के घोल को 1.5 ए飵Āीयर
धारा के साथ 5 िमनट के िलए वदै्युत अपघिटत िकया जाता ह।ै कैथोड पर जमा होन ेवाली ताबं ेकी माĀा ह ै:

0.01481 g / 0.01481 츱Āा०

0.2962 g / 0.2962 츱Āा०

0.1481 g / 0.1481 츱Āा०



1.481 g / 1.481 츱Āा०

Correct Answer :­0.1481 g / 0.1481 츱Āा० 

12)

Question Stimulus :­

In which part of atmosphere does cloud formation take place? / वातावरण के िकस भाग मᘮĀ बादल की रचना होती
ह?ै

Troposphere / ꉈĀोभ मडंल

Stratosphere / समतापमडंल

Thermo sphere / बा䒐  वायमुडंल

Ozonosphere / ओज़ोन मडंल

Correct Answer :­Troposphere / ꉈĀोभ मडंल 

13)

Question Stimulus :­

A  balanced diet contains­ / सतंिुलत आहार मᘮĀ शािमल होता ह­ै

Protein 1/5 , fat 3/5, carbohydrate 1/5 / 䐴Āोटीन 1/5 , वसा 3/5, काब∯Āहाइड縭Āट 1/5

Protein 3/5 , fat 1/5, carbohydrate 1/5 / 䐴Āोटीन 3/5 , वसा 1/5, काब∯Āहाइड縭Āट 1/5

Protein 1/5 , fat 1/5, carbohydrate 3/5 / 䐴Āोटीन 1/5, वसा 1/5, काब∯Āहाइड縭Āट 3/5

Protein 1/2 , fat 1/4, carbohydrate ¼ / 䐴Āोटीन 1/2, वसा 1/4, काब∯Āहाइड縭Āट ¼

Correct Answer :­Protein 1/5 , fat 1/5, carbohydrate 3/5 / 䐴Āोटीन 1/5, वसा 1/5, काब∯Āहाइड縭Āट 3/5 

14)

Question Stimulus :­

Three liquids A,B ,C have the boiling point:­   ­ 186, ­183 and  ­ 1960C
respectively. When a mixture of their vapours is fed into a tall fractionating
column from near the bottom of the column, they condense and collect in
different parts of the fractionating tower. The correct sequence of their
collection from top to bottom of the fractionating column will be­ / तीन 帳Ā帘Ȁो ंA,B
,C के 뱇Āथनाकं 樱Āमश: ह阮Ā ­ 186, ­183 और ­ 1960C | जब उनके वा눬Ȁो ंके िमĀण को एक लĀ े䐴Āभाजक
捀 भं मᘮĀ उसके तल के समीप स ेडाला जाता ह,ै तो व ेसघंिनत होत ेह阮Ā और 䐴Āभाजक 捀 भं के िविभ㚺Ā भागो ंमᘮĀ
एकिĀत होत ेह阮Ā| 䐴Āभाजक 捀 भं के ऊपर स ेनीच ेतक स츱ंĀह का सही 樱Āम होगा­



B, A, C

A, B, C

C, A, B

B, C, A

Correct Answer :­C, A, B 

15)

Question Stimulus :­

Which of the following represent the mole ratio of 2:1? / िन쫳Ā मᘮĀ स ेकौन 2:1 का मोल अनपुात दशा㸭Āता ह?ै

10 g of calcium and 12 g of magnesium / कैĀ툓Ȁयम का 10 츱Āाम और मिैĀिसयम का 12 츱Āाम

48 g of magnesium and 12 gram of carbon / मिैĀिसयम का 48 츱Āाम और काब㸭Āन का 12 츱Āाम

12 g of carbon and 60 g of calcium / काब㸭Āन का 12 츱Āाम और कैĀ툓Ȁयम का 60 츱Āाम

20 g of sodium and 20 g calcium / सोिडयम का 20 츱Āाम और कैĀ툓Ȁयम का 20 츱Āाम

Correct Answer :­48 g of magnesium and 12 gram of carbon / मिैĀिसयम का 48 츱Āाम और काब㸭Āन का 12
츱Āाम 

16)

Question Stimulus :­

Select the saponification reaction from the following / िन쫳Ā मᘮĀ स ेसाबनुीकरण 䐴Āिति樱Āया चिुनये

CH3COOC2H5  + NaOH   CH3COOH + C2H5OH

CH3COOH +  NaOH    CH3COONa + H2O

CH3COOH + C2H5OH   CH3COOC2H5  + H2O

CH3COOH +  NaHCO3   CH3COONa  + H2O + CO2

Correct Answer :­CH3COOC2H5  + NaOH   CH3COOH + C2H5OH 

17)

Question Stimulus :­

Among the following, the substance that contains two water molecules as water of  crystallisation is / िन쫳Ā मᘮĀ स,े वह



पदाथ㸭Ā िजसमᘮĀ जल ि樱ĀȀलीकरण के 搰Āप मᘮĀ दो जल अण ुउपĀ슄Ȁथत होत ेह阮Ā

Gypsum / िजကम

Washing soda  / धोन ेका सोडा

Plaster of paris / प숝ेĀरस ỌĀाȀर

Copper sulphate / कॉपर स對Ȁट

Correct Answer :­Gypsum / िजကम 

18)

Question Stimulus :­

An element has electronic configuration 2,5. To which of the following elements would it be similar in its chemical
reactivity? / एक तĀ का इल툿ेĀ縭Āॉिनक िव삾Āास 2,5 ह।ै िन쫳Ā मᘮĀ स ेअपनी रासायिनक अिभि樱Āयाशीलता मᘮĀ वह कौन से
तĀ के समान होगा?

P

Ne

Cl

Al

Correct Answer :­P 

19)

Question Stimulus :­

Which of the following pairs are associated with swollen lips, thick pigmented skin, and irritation in behavior? /
िन쫳Ā मᘮĀ स ेकौन स ेयुĀ सजू ेĀए ओठं, मोटी वण㸭Āिकत Āचा, और 帘Ȁवहार मᘮĀ िचड़िचड़पेन स ेसबंिंधत ह阮Ā?

Thiamine – Beriberi / थायामीन‐बरेीबरेी

Protein and Kwashiorkor / 䐴Āोटीन और 뱇Āािशयोरकॉर

Nicotinamide  – Pellagra / िनकोिटनमैाइड­पलॅा츱Āा

Iodine – Goitre / आयोडीन­ग桿Āमाला

Correct Answer :­Nicotinamide  – Pellagra / िनकोिटनमैाइड­पलॅा츱Āा 

20)

Question Stimulus :­



Which one of the following is NOT used as a rocket fuel? / िन쫳Ā मᘮĀ स ेकौन सा एक रॉकेट ईधंन की तरह 䐴Āयोग नहीं
िकया जाता?

Synthetic rubber / संĀ䒄Ȁ ल预Ȁ ट रबड़

Liquid hydrogen / तरल हाइड縭Āोजन

Paraffins / परैािफन

Liquid nitrogen / तरल नाइट縭Āोजन

Correct Answer :­Liquid nitrogen / तरल नाइट縭Āोजन 

21)

Question Stimulus :­

Depletion of ozone is mainly due to /  ओजोन अवꉈĀय म졋ुĀ 搰Āप स ेइसके कारण होता ह ै:

Freons / 娼ĀयोĀ

Chloromethane / 癇Āोरोमथेने

Carbon­di­oxide / काब㸭Āन­डाई­ऑ桉Āाइड

Sulphur­di­oxide / स對Ȁर­डाई­ऑ桉Āाइड

Correct Answer :­Freons / 娼ĀयोĀ 

22)

Question Stimulus :­

In addition to combustion and respiration, oxygen in the atmosphere also gets
used up in the formation of________  / दहन एव ं≠ सन के अित숝Āर칀Ā, वायमुडंल  मᘮĀ मौजदू
ऑ桉Āीजन का उपयोग _________ के िनमा㸭Āण मᘮĀ भी होता ह|ै

Oxides of carbon / काब㸭Āन के ऑ桉Āाइड

Oxides of sulphur / स䊂Ȁफ़र के ऑ桉Āाइड

Oxides of nitrogen / नाइट縭Āोजन के ऑ桉Āाइड

Oxides of hydrogen / हाइड縭Āोजन के ऑ桉Āाइड

Correct Answer :­Oxides of nitrogen / नाइट縭Āोजन के ऑ桉Āाइड 

23)

Question Stimulus :­



A tri negative ion of an element has 8 electrons in the 3rd orbit. What is the atomic number of the element? / एक
तĀ के िĀ­ऋणा낊Āक आयन की तीसरी कꉈĀा मᘮĀ 8 इल툿ैĀ縭Āॉन ह阮Ā| तĀ का परमाण­ु樱Āमाकं ᱆Āा ह?ै

18

15

20

16

Correct Answer :­15 

24)

Question Stimulus :­

In a voltaic cell, if iron and silver electrodes are connected together then the current will flow from / एक वदै्युत
सले मᘮĀ, यिद लौह और रजत इल灣ेȀ ट縭Āोड साथ मᘮĀ जोड़ ेजात ेह阮Ā, तो धारा 䐴Āवािहत होगी

iron to silver electrode outside the cell / सले के बाहर लौह स ेरजत इल툿ैĀ縭Āोड की ओर

silver to iron within the cell / सले के भीतर रजत स ेलौह की ओर

silver to iron outside the cell / सले के बाहर रजत स ेलौह की ओर

current does not flow inside the cell / सले के भीतर धारा 䐴Āवािहत नही ंहोती

Correct Answer :­silver to iron outside the cell / सले के बाहर रजत स ेलौह की ओर 

25)

Question Stimulus :­

Which of the following elements has the highest number of valency electrons­ /
िन쫳Ā मᘮĀ स ेकौन स ेतĀ मᘮĀ सयंोजकता इल툿ैĀ縭Āॉनो ंकी स졋ंĀा उꡝĀतम ह?ै

13P 27, 14Q29, 19 R39, 20S40

P

Q

R

S

Correct Answer :­Q 



26)

Question Stimulus :­

The elements A,B,C &D have the atomic numbers 8, 11, 9, and 17. The element which cannot form an anion is ­ /
तĀ A, B, C एव ंD की परमाण ुस졋ंĀा ह阮Ā 8, 11, 9 एव ं17 ह।ै वह तĀ जो आयन का िनमा㸭Āण नही ंकर सकता ­

A

B

C

D

Correct Answer :­B 

27)

Question Stimulus :­

Goldstein’s experiment, which involves passing of high voltage electric current through gases at very low pressure
resulted in the discovery of­ / गो嘉ȀȀाइन 䐴Āयोग, िजसमᘮĀ बĀत कम दाब पर उꡝĀ वो ज़े वदै्युत धारा को गसैो ंमᘮĀ
䐴Āवािहत कराना शािमल ह,ैस ेइसकी खोज Āई­

Nucleus / 삾ĀूĀ癇Āअस

Electrons / इल툿ैĀ縭Āॉन

Protons / 䐴Āोटॉन

Neutrons / 삾Āटू縭Āॉन

Correct Answer :­Protons / 䐴Āोटॉन 

28)

Question Stimulus :­

Liquid air is a mixture of liquid oxygen, liquid nitrogen, liquid argon. The increasing order of their boiling point
is­ / 帳Āव ऑ桉Āीजन, 帳Āव नाइट縭Āोजन एव ं帳Āव आग㸭Āन का िमĀण 帳Āव वाय ुह।ै बढ़त े樱Āम मᘮĀ उनका 뱇Āथनाकं ह­ै

Nitrogen< Oxygen<Argon / नाइट縭Āोजन < ऑ桉Āीजन < आग㸭Āन

Nitrogen< Argon <Oxygen / नाइट縭Āोजन < आग㸭Āन < ऑ桉Āीजन

Argon < Oxygen ,< Nitrogen / आग㸭Āन < ऑ桉Āीजन < नाइट縭Āोजन

Oxygen< Argon< Nitrogen / ऑ桉Āीजन < आग㸭Āन < नाइट縭Āोजन



Correct Answer :­Nitrogen< Argon <Oxygen / नाइट縭Āोजन < आग㸭Āन < ऑ桉Āीजन 

29)

Question Stimulus :­

An ionic compound is formed by combination of one of the following pair of element. The pair of element is­ / एक
आयिनक यौिगक िन쫳Ā तĀो ंके युĀो ंमᘮĀ स ेएक के सयंोजन 꺢Āारा िनिम㸭Āत िकया जाता ह|ै तĀ का युĀ ह­ै

Cl and Mg

Al and S

Cl and S

C and S

Correct Answer :­Cl and Mg 

30)

Question Stimulus :­

Wet cloths takes longer time to dry during the rainy season because evaporation is slow due to / गील ेकपड़े
बा숝Āरश के मौसम मᘮĀ सखून ेमᘮĀ 쩤Āादा समय लते ेह阮Ā ᱆Āोिंक वा눬Ȁन इसके कारण धीरे होता है

Low temperature / कम ताप

More humidity in the atmosphere / वातावरण म◌ें 쩤Āादा आ帳Ā㸭Āता

Less sun shine / कम सयू㸭Ā 䐴Āकाश

Low speed of wind / वाय ुकी धीमी गित

Correct Answer :­More humidity in the atmosphere / वातावरण म◌ें 쩤Āादा आ帳Ā㸭Āता 

31)

Question Stimulus :­

Which set of the following elements is metalloids / िन쫳Ā तĀो ंके सटे मᘮĀ स ेकौन सा उपधात ुहै

Silicon and genmanium / िसिलकन और जम䘮Āिनयम

Zinc and cadmium / ज捀 ा और कैडिमयम

Iodine and astatine / आयोडीन और ऐȀटैीन

Sulphur and selenium / स對Ȁर और िसलीिनयम



Correct Answer :­Silicon and genmanium / िसिलकन और जम䘮Āिनयम 

32)

Question Stimulus :­

Which one of the following metal forms amphoteric oxide? / िन쫳Ā मᘮĀ स ेकौन सा एक धात ुउभयधम쨭Ā ऑ桉Āाइड
बनाता ह?ै

Na

Zn

Ca

Mg

Correct Answer :­Zn 

33)

Question Stimulus :­

The suitable conditions for the liquification of gases are________ / गसैो ंके 帳Āवीकरण के िलए उपय칀ुĀ प숝ĀरĀ슄Ȁथितयाँ
ह阮Ā________

Low temperature and low pressure. / िन쫳Ā तापमान एव ंिन쫳Ā दाब

High temperature and low pressure / उꡝĀ तापमान एव ंिन쫳Ā दाब

Low temperature and high pressure / िन쫳Ā तापमान एव ंउꡝĀ दाब

High temperature and high pressure / उꡝĀ तापमान एव ंउꡝĀ दाब

Correct Answer :­Low temperature and high pressure / िन쫳Ā तापमान एव ंउꡝĀ दाब 

34)

Question Stimulus :­

Scientist says that there are five states of matter. The fourth state of matter consists of a mixture of ­ / वṢैĀािनक
कहत ेह阮Ā िक पदाथ㸭Ā की पाचँ अव슄ȀथायᘮĀ होती ह阮Ā| पदाथ㸭Ā की चौथी अव슄Ȁथा मᘮĀ इनका िमĀण होता ह­ै

Solid and gas / ठोस और गसै

Molecules and atoms / अण ुऔर परमाणु

Atoms and ions / परमाण ुऔर आयन

Free electrons and ions / म칀ुĀ इल툿ैĀ縭Āॉन और आयन



Correct Answer :­Free electrons and ions / म칀ुĀ इल툿ैĀ縭Āॉन और आयन 

35)

Question Stimulus :­

On analysis, 0.48g sample of a compound of sulphur and oxygen was found to
contain 0.288g of oxygen & 0.192g of sulphur. The percentage composition of
oxygen in the compound by mass is  / स對Ȁर एव ंऑ桉Āीजन के एक यौिगक का 0.48g नमनूा
का िव鰤Ȁषेण करन ेपर 0.288 츱Āा० ऑ桉Āीजन एव ं0.192 츱Āा० स對Ȁर पाया गया| यौिगक मᘮĀ 帳Ā帘Ȁमान के
अनसुार ऑ桉Āीजन के सयंोजन की 䐴Āितशतता ह ै:

60

40

80

70

Correct Answer :­60 

36)

Question Stimulus :­

When cupric nitrate is heated, a reddish brown gas is evolved. The chemical formula of the gas is / जब ᱆Āिु䐴Āक
नाइट縭Āट को गरम िकया जाता ह,ै तो एक लाल भरूी गसै िनकलती ह।ै गसै का रासायिनक सूĀ है

N2O

NO

NO2

N2O5

Correct Answer :­NO2 

37)

Question Stimulus :­

Which of the following compounds does not follow the octet rule? / िन쫳Ā मᘮĀ स ेकौन स ेयौिगक अ预Ȁ टक िनयम का
पालन नही ंकरत?े

PCl5

CO2



NaCl

H2O

Correct Answer :­PCl5 

38)

Question Stimulus :­

Oxygen gas is prepared in the laboratory by the following reaction­ / ऑ桉Āीजन गसै िन쫳Ā अिभि樱Āया 꺢Āारा 䐴Āयोगशाला मᘮĀ
बानाई जाती है

2KClO3   2KCl + 3O2

The catalyst used in this reaction is­ / इस अिभि樱Āया मᘮĀ 䐴Āयोग िकया जान ेवाला उĀरेक है

Platinum / ỌĀिैटनम

Manganese dioxide / म阮Āगनीज डाइऑ桉Āाइड

Ferric oxide / फे숝Āरक ऑ桉Āाइड

Vanadium pentaoxide / वनैिेडयम पᘮĀटाऑ桉Āाइड

Correct Answer :­Manganese dioxide / म阮Āगनीज डाइऑ桉Āाइड 

39)

Question Stimulus :­

Which one among the following metal is the best conductor of heat? / िन쫳Ā मᘮĀ स ेकौन सा एक धात ुऊⴂ�ा का
सव∯Ā暠  तम सचंालक है

Mercury / मरकरी

Silver / चादंी

Lead /  लडे

Iron / लोहा

Correct Answer :­Silver / चादंी 

40)

Question Stimulus :­

The fuel which is not obtained from biomass is / वह इधं㸭Āन जो जवै माĀा स े䐴ĀाⓃĀ नही ंहोता



Charcoal / चारकोल

Coke / कोक

Firewood / का预Ȁ ठ ईधन

Cow dung / गोबर

Correct Answer :­Coke / कोक 

41)

Question Stimulus :­

What type of reaction is represented in the following equation? / िन쫳Ā समीकरण मᘮĀ कौन स े䐴Āकार की 䐴Āिति樱Āया 䐴Āदिश㸭Āत
की गई ह?ै

MgCO3(S)     MgO(S) + CO2(g)

Combination / सयं灣ुȀ त 

Double displacement / द् िव िव슄Ȁथापन

Decomposition / अपघटन

Redox reaction / रेडॉ桉Ā अिभि樱Āया

Correct Answer :­Decomposition / अपघटन 

42)

Question Stimulus :­

A mixture of milk and ground nut oil can be separated by­ / दूध एव ंमूंगफली के तले के िमĀण को िजस िविध 꺢Āारा
अलग कर सकत ेह阮Ā, वह िविध ह ै­

Distillation / आसवन

Sublimation / ऊ檦Ā㸭Āपातन

Filtration / िन䡁Ȁदंन के 꺢Āारा

With the help of separating funnel / पथृ︼Āारी कीप की सहायता से

Correct Answer :­With the help of separating funnel / पथृ︼Āारी कीप की सहायता स े

43)

Question Stimulus :­



Question Stimulus :­

Some elements have variable valencies. Which of the following elements has the valencies 2, 4 & 6 / कुछ तĀो ंमᘮĀ
प숝Āरवत쨭Ā सयंोजकता होती ह।ै िन쫳ĀिलĀखत मᘮĀ स ेिकन तĀो ंकी सयंोजकता 2, 4 एव ं6 ह?ै

Copper / ताबँा

Iron / लोहा

Mercury / मरकरी

Sulphur / स對Ȁर

Correct Answer :­Sulphur / स對Ȁर 

44)

Question Stimulus :­

The most abundant metal in the earth’s crust is /  प쒒ृĀी पटल पर सबस े䐴Āचरु माĀा मᘮĀ धातु
ह ै:

Al

Fe

Au

Zn

Correct Answer :­Al 

45)

Question Stimulus :­

Select the greenhouse gas from the following / िन쫳ĀिलĀखत मᘮĀ स े츱Āीनहाउस गसै को चनुᘮĀ :

N2

CO2

CO

O2

Correct Answer :­CO2 

46)



Question Stimulus :­

A solution containing a mixture of ferrous sulphate and copper sulphate is subjected to electrolysis. Which substance
will be liberated first at  the cathode ? / एक िवलयन िजसमᘮĀ फेरस स對Ȁट और कॉपर स對Ȁट का िमĀण मौजदू ह,ै को
वदै्युत अपघटन के अधीन िकया जाता ह|ै कैथोड पर पहल ेकौन सा पदाथ㸭Ā िनकलगेा?

Iron / लौह

Copper / कॉपर

Hydrogen / हाइड縭Āोजन

Copper and iron will be deposited at the same time. / कॉपर और लौह दोनो ंएक ही समय पर िनꉈĀिेपत होगं|े

Correct Answer :­Copper / कॉपर 

47)

Question Stimulus :­

When heat is supplied by a spirit lamp with small flame to melt the ice, then temperature of the ice during
melting­ / जब छोटी लौ के Ā瘸Ȁ숝Āरट ल飵ैĀ 꺢Āारा बफ㸭Ā को िपघलान ेके िलय ेऊⴂ�ा दी जाती ह,ै तो िपघलत ेसमय बफ㸭Ā का
ताप

Increases very slowly. / बĀत धीरे बढ़ता है

Does not increase at all / िब㠂Ȁल भी नही ंबढ़ता

First remain constant and then increases / पहल े슄Ȁथायी रहता ह ैऔर िफर बढ़ता है

Increases to form liquid water / तरल जल बनान ेके िलय ेबढ़ता है

Correct Answer :­Does not increase at all / िब㠂Ȁल भी नही ंबढ़ता 

48)

Question Stimulus :­

The ra琊�o of phosphorous atoms in calcium phosphate and calcium phosphide is‐ / कैĀ툓Ȁयम फ़ॉ刻Ȁट और कैĀ툓Ȁयम
फॉ刻Ȁाइड मᘮĀ फ़ॉ刻Ȁोरस परमाणओु ंका अनपुात होता ह­ै

1 : 2

2 : 1

3 : 1

1 : 1

Correct Answer :­1 : 1 



49)

Question Stimulus :­

Deple琊�on of ozone layer causes – / ओज़ोन परत का अवꉈĀय इस ेप숝Āरणाम दतेा ह­ै

Blood cancer / र칀Ā क阮Āसर

Breast cancer / 捀 न क阮Āसर

Lung cancer / फुᛉĀस क阮Āसर

Skin cancer / चम㸭Ā क阮Āसर

Correct Answer :­Skin cancer / चम㸭Ā क阮Āसर 

50)

Question Stimulus :­

Iden琊�fy the substance that contains oxalic acid in it / वह पदाथ㸭Ā ṢĀात कीिजय ेिजसमᘮĀ ऑ桉Āिैलक अ틼Ā शािमल होता है

Orange  / नारंगी

Sour milk  / ख㙧Āा दूध

Tomato  / टमाटर

Tamarind / इमली

Correct Answer :­Tomato  / टमाटर 

Topic:­ Maths
1)

Question Stimulus :­

In a G.P., T7 =36, value of ‘a’ and ‘r’ are / एक G.P मᘮĀ, T7 =36, ‘a’ और ‘r’ के मान ह阮Ā

a = 0, r = 3

a = 1, r = 4

a = 1, r = 3

a = 1, r = 6

Correct Answer :­a = 0, r = 3 



2)

Question Stimulus :­

Solve 6x + 8 = 28 ­ 2x / 6x + 8 = 28 ­ 2x हल कीिजए

Correct Answer :­  

3)

Question Stimulus :­

In an A.P. T23 = ­106, a = 4 then the value of  ‘d’ is / एक A.P. मᘮĀ T23 = ­106, a = 4, तो
‘d’ का मान है

5

­5

­4

4

Correct Answer :­­5 

4)

Question Stimulus :­

If   then x is equal to / यिद ,   तो x बराबर ह ैइसके

2

­2



­1

0

Correct Answer :­­2 

5)

Question Stimulus :­

If sin (A – B) = 1/2, cos (A + B) = 1/2, where 0 o < A + B  90o, A > B, find A
and B. / यिद sin (A – B) = 1/2, cos (A + B) = 1/2, जहा ँ0 o < A + B  90o, A > B, A
और B िनकािलए

A = 90o, B = 30o

A = 45o, B = 15o

A = 60o, B = 0o

A = 15o, B = 45o

Correct Answer :­A = 45o, B = 15o 

6)

Question Stimulus :­

    is equal to /   इसके बराबर है

3

9

81

None of these / इनमᘮĀ स ेकोई नहीं

Correct Answer :­9 

7)

Question Stimulus :­

If cot q = 7/8, evaluate   / यिद cot q = 7/8,   का मान
िनकािलए



7/8

64/49

49/64

64/113

Correct Answer :­49/64 

8)

Question Stimulus :­

If sin q = 0, find   / यिद sin q = 0,  
ṢĀात कीिजए |

0

1

Correct Answer :­1 

9)

Question Stimulus :­

If sin θ = 0, then tan θ = ____________. / यिद sin θ = 0, तब tan θ = ___________ |

1

1/2

­1

0

Correct Answer :­0 

10)

Question Stimulus :­

In ∆ABC, right angled at B, AB =24 cm and BC = 7 cm, Determine sin2 A + cos2 A. / ∆ABC मᘮĀ, जो B पर समकोण



ह,ै AB =24 समेी और BC = 7 समेी, sin2 A + cos2 A िनधा㸭Ā숝Āरत कीिजए

6708

1

49

1644

Correct Answer :­1 

11)

Question Stimulus :­

Which of the following statements is true? / िन쫳Ā मᘮĀ स ेकौन स ेकथन स᲋Ā ह阮Ā?

Correct Answer :­  

12)

Question Stimulus :­

If θ is an acute angle, then   = _________ / यिद θ एक 삾Āनूकोण ह,ै तब   =
_________

Correct Answer :­  

13)



Question Stimulus :­

In a ∆ABC, right angled at B, if AB = 4 and BC = 3, find cos A. / ∆ABC मᘮĀ, जो B पर समकोण ह,ै यिद AB = 4 और
BC = 3, तब cos A ṢĀात कीिजए

3/5

4/5

3/4

4/3

Correct Answer :­4/5 

14)

Question Stimulus :­

If cos θ = 15/17, then sec θ = _________ / यिद cos θ = 15/17, तब sec θ =
_________

17/8

8/15

17/15

15/8

Correct Answer :­17/15 

15)

Question Stimulus :­

The radii of two cylinders are in the ratio 2 : 1 and the ratio of their heights is 5 : 4, then the ratio of their
volumes is / दो बलेनो ंकी िĀ쩤Āाओ का अनपुात 2:1 एव ंउनके ऊचाईयो ंका अनपुात 5:4 ह,ै तब उनके आयतनो ंका
अनपुात ह ै:

4 : 1

5 : 1

5 : 2

4 : 3

Correct Answer :­5 : 1 



16)

Question Stimulus :­

In the adjoining fig ∠BEF = 60   and ∠ A = 60  . Express x in terms of a, b, c  /
सलंĀ िचĀ मᘮĀ ∠BEF = 60   एव ं∠ A = 60  । x को a, b, c  के पदो ंमᘮĀ 帘Ȁ칀Ā करᘮĀ।

Correct Answer :­  

17)

Question Stimulus :­

The circumference of a circle exceeds its diameter by 45 cm. The radius of the circle is / एक व窅ृĀ की प숝Āरिध इसके
帘Ȁास स े45 समेी अिधक ह।ै व窅ृĀ की िĀ쩤Āा ह ै:

5 cm

7 cm

10.5 cm

9.5 cm

Correct Answer :­10.5 cm 

18)

Question Stimulus :­



Question Stimulus :­

52

105

53

510

Correct Answer :­510 

19)

Question Stimulus :­

The value of 2252 ­ 252 is _____ / 2252 ­ 252 का मान होगा _____

5000

50000

62500

45200

Correct Answer :­50000 

20)

Question Stimulus :­

Which among the following is the point of intersection of the lines 4x+y= 12 and y=2x? / िन쫳Ā मᘮĀ स े4x+y= 12 एव ंy=2x
रेखाओ ंका 䐴Āित챝Āदेन करन ेवाली िबदं ुकौन ह?ै

(4, ­2)

(­4, 2)

(4,2)

(2, 4)

Correct Answer :­(2, 4) 

21)



Question Stimulus :­

Point of intersection of the lines x=1 and y=2 is: / रेखाएँ  x=1 एव ंy=2 की 䐴Āित챝Āदे िबदं ुह阮Ā:

(1,0)

(0,2)

(1,2)

(­1,0)

Correct Answer :­(1,2) 

22)

Question Stimulus :­

If the angles of a triangle are in the ratio 1:2:3, find the angles in the order.  /
यिद एक िĀभजु के कोण 1:2:3 के अनपुात मᘮĀ ह阮Ā, 樱Āम मᘮĀ कोण ṢĀात करᘮĀ|

80, 50, 50

30,60,90

60,40,80

50, 30, 100

Correct Answer :­30,60,90 

23)

Question Stimulus :­

If ABCD is a cyclic quadrilateral such that AB is a diameter of the circle
circumscribing it and         is_________  / यिद ABCD एक च樱Āीय चतभु㸭ुĀज
इस 䐴Āकार ह ैिक AB 帘Ȁास स ेिघरा ह ैएव ं    =________________       

                               

80



50

40

70

Correct Answer :­50  

24)

Question Stimulus :­

Perimeter of a triangle is 40 cm and two sides are 13 cm and 12 cm
respectively, then the ratio of its area to its perimeter is _______. / एक िĀभजु की
प숝Āरिध 40 समेी एव ंदो भजुाएँ 樱Āमश: 13 समेी एव ं12 समेी ह阮Ā, तब इसके ꉈĀेĀफल का प숝Āरिध स ेअनपुात होगा  _______.

:                                                  

2:7

7:2

Correct Answer :­  

25)

Question Stimulus :­

A cone, a hemisphere, and a cylinder stand on equal bases and have same height. Then the ratio of their volume is
________. / एक शकंु, एक गोला岚Ā㸭Ā एव ंएक बलेन समान आधार पर खड़ ेह阮Ā एव ंसमान ऊँचाई के ह阮Ā| तब इनके आयतन का
अनपुात ________ ह|ै

2:1:3

3:2:1

1:2:3

1: 3:2

Correct Answer :­1:2:3 

26)

Question Stimulus :­

If both (x+1) and (x+2) are factors of ax2 + 3x + b, then  / यिद (x+1) एव ं(x+2)



गणुक ह阮Ā ax2 + 3x + b के, तब:

a = b

2a = b

a = 2b

a = 3b

Correct Answer :­2a = b 

27)

Question Stimulus :­

The number which is rational, is / वह स졋ंĀा जो िक प숝Āरमये ह ै:

2

Correct Answer :­  

28)

Question Stimulus :­

The value of ‘k’, for which the polynomial f(x) =  x3– 7x + k is divisible by (x +
3), is / ‘k’ का मान बĀपद f(x) =  x3– 7x + k  के िलए जो िक (x + 3) स ेिवभा쩤Ā ह:ै

5

6

­2

­4

Correct Answer :­6 



29)

Question Stimulus :­

ABCD is a parallelogram with CAB   If  2DCA = 3BCA  then ADC = /

ABCD एक समातंर चतभु㸭ुĀज ह ैिजसमᘮĀ CAB   यिद  2DCA = 3BCA  तब ADC =

120

105

110

135

Correct Answer :­135  

30)

Question Stimulus :­

l is a line intersecting the two concentric circles with centre O, at A, B, C and D. 
IF AD = 15 cm and BC = 10 cm, then AC = / 1 एक रेखा ह ैजो िक O कᘮĀ帳Ā वाली दो सकंᘮĀ帳Āी व暠ृ  तो ंका
䐴Āित챝Āदेन A, B, C एव ंD पर करती ह|ै यिद AD = 15 समेी एव ंBC = 10 समेी, तब AC =

13cm

11.5cm

12.5cm

12cm

Correct Answer :­12.5cm 

31)

Question Stimulus :­

The length and breadth of a box are 6 cm and 3 cm respectively.  If the sum of



the areas of the top and bottom of the box is equal to the sum of the areas of
the four sides.  Its volume is / एक ब桉Ā ेकी लबंाई एव ंचौड़ाई 樱Āमश: 6 समेी एव ं3 समेी ह|ै यिद ब桉Ā ेके
शीष㸭Ā एव ंतल के ꉈĀेĀफल का योग चारो ओर के ꉈĀेĀफल के योग के बराबर ह|ै इसका आयतन ह ै:

36 cm3

42 cm3

60 cm3

54 cm3

Correct Answer :­36 cm3 

32)

Question Stimulus :­

The volume of a cuboid is 288 cm3. The area of the base is 48 cm2.  Its height is / एक घनाभ का आयतन 288
समेी3 ह|ै इसके आधार का ꉈĀेĀफल 48 समेी2 ह|ै इसकी लबंाई ह:ै

6 cm

8 cm

4 cm

12 cm

Correct Answer :­6 cm 

33)

Question Stimulus :­

The sum and the product of Zeroes of a quadratic polynomial are   and    and
 respectively.  The quadratic polynomial is / ि꺢Āघातीय बĀपद के श삾ूĀक के योग और गणुन 樱Āमशः ह阮Ā

   एव ं    . ि꺢Āघात बĀपद होगं े­

  – 2x – 4

 + 3x – 4

 –2x + 4

 + 2x – 4



Correct Answer :­  + 2x – 4 

34)

Question Stimulus :­

If the system of equations  x+ y ­1 = 0 and ( 3k­2) x + ky = k+1 is parallel,
then the value of  ‘k’ is / यिद समीकरण िनकाय x+ y ­1 = 0 एव ं( 3k­2 )x + ky = k+1 समानातंर ह,ै
तब ‘k’ का मान होगा ­

1

­1

2

­2

Correct Answer :­1 

35)

Question Stimulus :­

What should be added and subtracted to find the roots of the equation 3x2 + 2x – 1 = 0 by the method of completing
the square? / पणू㸭Ā वग㸭Ā बनान ेिक िविध 꺢Āारा समीकरण 3x2 + 2x – 1 = 0 के मलू को 䐴ĀाⓃĀ करन ेके िलए, ᱆Āा जोड़ना एवं
घटाना चािहए?

Correct Answer :­  

36)

Question Stimulus :­

ABC  DEF.  Sides AB + BC + CA =32 cm and DE +EF +DF = 24 cm.  If DE =12
cm, then AB = /  ABC   DEF.  भजुाएँ  AB + BC + CA =32 स०ेमी० एव ं DE +EF +DF = 24
स०ेमी०| यिद  DE =12 स०ेमी० , तब AB=



16 cm

14 cm

10 cm

8 cm

Correct Answer :­16 cm 

37)

Question Stimulus :­

The perimeter of   is 16 cm.  PS, PT and RQ are three tangents to the circle
touching the circle at S, T, X respectively.  If QT = 2 cm then the length of PQ
is­ /   की प숝Āरिध 16 स०ेमी० ह|ै PS, PT एव ंRQ व窅ृĀ की तीन 瘸Ȁश㸭Ā रेखाएँ व窅ृĀ को 樱Āमशः िबदं ुS, T, X पर 瘸Ȁश㸭Ā
करती ह|ै यिद QT=2 स०ेमी०, तब PQ की लĀाई –

8 cm

10 cm

6 cm

4 cm

Correct Answer :­6 cm 

38)

Question Stimulus :­

Point (1 , 3) divides the line segment joining the points (4 , ­1) and (­2 , ­5) in the ratio / (4 , ­1) एव ं(­2 , ­5) िब㱭Ȁदुओं
को िमलाकर बनी रेखाख桿Ā को िबदं ु(1 , 3) पर इस अनपुात मᘮĀ िवभािजत करती ह ै­

3 : 2

1 : 1

2 : 3



2 : 1

Correct Answer :­1 : 1 

39)

Question Stimulus :­

If cosec7A = sec    , where 7A is an acute angle, the value of A is / यिद
cosec7A=sec(A+26०), जहा ँ7A एक 삾Āनूकोण ह,ै A का मान होगा ­

5

6

8

9

Correct Answer :­8  

40)

Question Stimulus :­

The area of a quadrant of a circle is 154 cm2.  The circumference of the circle is­
/ एक व窅ृĀ के चतथुाꐭĀश का ꉈĀेĀफल 154 स०ेमी०2| व窅ृĀ की प숝Āरिध होगी ­

90 cm

88 cm

72 cm

80 cm

Correct Answer :­88 cm 

41)

Question Stimulus :­

A solid sphere of radius ‘r’ is remodeled into a cylinder of same radius.  The
height of the cylinder in terms of ‘r’ is / एक r िĀ쩤Āा वाल ेठोस गोल ेको समान िĀ쩤Āा वाली बलेन के
搰Āप मᘮĀ पनुःिनिम㸭Āत िकया गया| r के पद मᘮĀ बलेन की ऊँचाई होगी ­

            



Correct Answer :­              

42)

Question Stimulus :­

A pooja room has to be fitted with square marble tiles of the largest possible
size.  If the size of the room is 12 ft x 8 ft, the number of tiles required is / एक
पजूा के कमरे मᘮĀ सबस ेबड़ ेसभंािवत आकार के वगा㸭Āकार माब㸭Āल टाइलो ंको लगाया जाना ह।ै यिद कमरे का आकार 12 फुट x
8 फुट ह,ै आव㈢Ȁक टाइलो ंकी स졋ंĀा होगी:

6

8

4

10

Correct Answer :­6 

43)

Question Stimulus :­

The sum of the numerator and the denominator of a fraction is 11.  If 4 is added

to the denominator, the fraction becomes   .  The numerator of the fraction is /

यिद एक िभ㚺Ā के अशं एव ंहर का योग 11 ह,ै यिद हर मᘮĀ 4 जोड़ िदया जाए,तो िभ㚺Ā   हो जाता ह।ै िभ㚺Ā का अशं ह ै:

7

6

5

4



Correct Answer :­5 

44)

Question Stimulus :­

If 2ax2 ­ 4bx + c = 0 has equal roots, then ‘a’ = / यिद 2ax2 ­ 4bx + c = 0 मᘮĀ समान मलू ह阮Ā, तब ‘a’ =

Correct Answer :­  

45)

Question Stimulus :­

The number of terms in the sequence 51 , 53 , 55,_______107 is /  इस 樱Āम मᘮĀ 51 , 53 ,
55,________107  पदो ंकी स졋ंĀा ह ै:

29

35

26

32

Correct Answer :­29 

46)

Question Stimulus :­

If cosec ( A+B) =1 and tan ( A – B ) =   ,   0 < A+B   90 and A > B, then the

values of A and B respectively are /  यिद cosec ( A+B) =1 एव ंtan ( A – B ) =   ,  
0 < A+B   90 एव ंA > B, तब A एव ंB मान ह ै樱Āमश:



50   and 40   / 50   एव ं40

60   and 30   / 60   एव ं30

45   and 30   / 45   एव ं30   

40  and 30   / 40   एव ं30

Correct Answer :­60   and 30   / 60   एव ं30  

47)

Question Stimulus :­

The distance between the points A( 7 , y ) and B( 4, ­1) is 3  , then y = / िब㱭Ȁदुओ ंA( 7 , y ) एव ंB( 4, ­1) के बीच की

दूरी ह ै3  , तब y=

2 or – 4

7 or ­1

­2 or 1

1 or 3

Correct Answer :­2 or – 4 

48)

Question Stimulus :­

The angles of a triangle are in A.P. The smallest angles is 40.Then the three angles are
in the ratio / एक िĀकोण के कोण A.P. मᘮĀ ह阮Ā| सबस ेछोटा कोण 40 ह|ै तो तीन कोण इस अनपुात मᘮĀ ह阮Ā

1 : 2 : 3

2 : 3 : 4

1 : 3 : 5

2 : 4 : 5

Correct Answer :­2 : 3 : 4 

49)

Question Stimulus :­



Find the value of   . /    का मान िनकािलए

2

1.5

2.25

3

Correct Answer :­2 

50)

Question Stimulus :­

If , then find the value of   यिद ,   का मान िनकािलए

4

8

2

0

Correct Answer :­2 


